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10
gl/\/ Solving Sequence
%11%6%7%1,2ﬁ364ﬂ9?8ﬂ>01,03,07
3

— 5,10
A knot diagranﬂ T cs  Cg (11 C2 €4 O

10
Ideals for irreducible component#ﬂ)f Xpar
I'=w?® -+ tbtu, —u® -0+ +a—3, v+ 2u® -+ 3u+1)
=W’ 4b,a—1, u'? —4u'® +u° + 6u® — 3u” — u® 4 3u® — 5ut + v + 3u® — 2u + 1)

13
I=0b+1,a-1, u-1)

* 3 irreducible components of dim¢ = 0, with total 42 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-

fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).
2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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1.
It = (u®—9u?®+.. - +b+u, —u*®—u?"+...-+a—-3, u?*+2u?®+...4+3u+1)

(i) Arc colorings

1
a0 = \0
1
a1l = —U2
u
a6 = \ —ud +u
—ud + 2u
ar = \ —u?+u
—uZ+1
a1 = \qy? — 22
u?® +u? 4+ —Bbu+3
az = \ —u®® +9u? + - +4u? —u
—u?® 4+ 11u26 + - 8u+1
ag = u® 2 4 pu 1
—u?" + 11u? + - + 6u — 2
ay = —U28—U27+"'—U—1
wb —3ut+2u+1
ag = ub — 2ut + u?
—ud 4+ 4u” — 5ud + 3u
ag = \ —u® +3u" —3ub +u
—u? + 4u” — 5u® + 3u
ag = \ —u® +3u" —3u’ +u
(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u?8 — 6u?" + 40u20 + 58u2® — 176u?* — 23613 + 428122 + 482u?! — 568u?Y —
370u® 4 236u'® — 414u'7 + 460u'® + 1092u'® — 788u'* — 532u'?® + 356u'? — 584ull +
236u'® + 608u® — 308u® + 84u” + 40u® — 178u® + 60u* — 26u> + Su? + 6u — 8



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C4 u? —2u® . —ut1
C2 u? F 160+ Tu+ 1
c3,C8 u?® 4+ 20+ 4 2u+2
Cs5, €105 C11 u? 4+ 2u% £ 4 3ud1
Cg, C7,Cy u?® —6u® 4+ +8u+4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€15 ¢4 Y —16y% + -+ Ty — 1
Co v 4y 1Ty —1
cs, s v 46y 4 48y —4
5, €10, C11 y? — 24y .. 423y — 1
C6, €7, Co y? +30y% + .- + 504y — 16




(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape
0.050913 + 0.9101851
= —0.45193 — 1.395761 —10.46170 4 8.033561 | —4.76249 — 5.597441

= 0.00992 — 2.352281

= 0.050913 — 0.9101851
= —0.45193 + 1.395761
= 0.00992 + 2.352281

—10.46170 — 8.033561

—4.76249 + 5.597441

= —0.008721 + 0.8879601
= —0.49123 4 1.420561
= 0.14380 + 2.360201

—10.71030 — 1.523431

—5.35413 + 0.687711

= —0.008721 — 0.8879601
= —0.49123 — 1.420567
= 0.14380 — 2.360201

—10.71030 + 1.523431

—5.35413 — 0.687711

= 1.189730 + 0.0560621
= —0.370086 — 0.2551151
= —1.23899 — 0.695021

2.39907 + 0.123691

3.50407 + 1.077591

1.189730 — 0.0560621
= —0.370086 + 0.2551151
= —1.23899 + 0.695021

2.39907 — 0.123691

3.50407 — 1.077591

= 1.242320 4 0.1897741
—0.715591 + 0.4383991
= 0.20240 + 2.887341

0.91595 + 3.564201

0.67873 — 4.998631

1.242320 — 0.1897741
—0.715591 — 0.4383991
0.20240 — 2.887341

0.91595 — 3.564201

0.67873 + 4.998631

0.230236 + 0.6722441
—0.11327 — 1.569791
= —0.07670 — 1.557001

—1.85869 + 5.194991

—2.04173 — 8.304801

= 0.230236 — 0.6722441
= —0.11327 4 1.569791
= —0.07670 4 1.557001

—1.85869 — 5.194991

—2.04173 + 8.304801




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

1.249690 + 0.4178111
—0.215564 — 0.6089111
—0.927812 — 0.1652121

—3.02235 + 1.474201

1.47993 — 0.609031

1.249690 — 0.4178111
—0.215564 + 0.6089111
—0.927812 4 0.1652121

—3.02235 — 1.474201

1.47993 + 0.609031

—1.311940 + 0.1794761
= —0.339083 + 0.4759471
—0.644137 4 0.4714671

4.98921 — 3.786821

7.27007 + 4.167271

—1.311940 — 0.1794761
—0.339083 — 0.4759471
—0.644137 — 0.4714671

4.98921 + 3.786821

7.27007 — 4.167271

—1.342150 + 0.0402931
—0.537408 — 0.4447061
—0.23164 — 1.417821

6.61715 — 2.272091

8.89752 4 3.809821

—1.342150 — 0.0402931
—0.537408 +- 0.444706.1
—0.23164 4 1.417821

6.61715 4 2.272091

8.89752 — 3.809821

1.286000 + 0.4189351
—0.762208 4 0.6139981
1.69138 + 2.746111

—6.68464 + 6.200041

—1.73580 — 3.814811

1.286000 — 0.4189351
—0.762208 — 0.6139981
1.69138 — 2.746111

—6.68464 — 6.200041

—1.73580 + 3.814811

—1.333980 + 0.2446031
—0.683762 — 0.5248471
0.83387 — 2.339321

3.04589 — 8.426921

3.52830 + 8.669211

= —1.333980 — 0.2446031
= —0.683762 + 0.5248471
0.83387 4 2.339321

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
Il

3.04589 + 8.426921

3.52830 — 8.669211




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —1.301320 + 0.4075881
a = —0.248387 + 0.6096151
b= —0.872384 + 0.1072771

—2.63518 — 7.770711

2.10858 + 5.303831

uw = —1.301320 — 0.4075881
a = —0.248387 — 0.6096151
b= —0.872384 — 0.1072771

—2.63518 + 7.770711

2.10858 — 5.303831

0.529946 + 0.3291081
a= 0.667313 — 0.9865921
b= —0.347726 — 0.5882741

u =

0.93542 + 1.410531

5.39446 — 5.740201

0.529946 — 0.3291081
a= 0.667313 + 0.9865921
b= —0.347726 + 0.5882741

u =

0.93542 — 1.410531

5.39446 4 5.740201

u = —1.320520 + 0.4246151
a = —0.743481 — 0.6220591
b= 1.72687 — 2.609041

—6.1783 — 12.80691

—0.92308 + 8.125691

uw = —1.320520 — 0.4246151
a = —0.743481 + 0.6220591
b= 1.72687 + 2.609041

—6.1783 + 12.80691

—0.92308 — 8.125691

u = —0.063245 + 0.5162121
a = —0.28684 + 2.093631
b= 0.49644 + 1.386761

—3.02142 — 1.014331

—6.77496 + 0.833391

u = —0.063245 — 0.5162121
a = —0.28684 — 2.093631

—3.02142 + 1.014331

—6.77496 — 0.833391

b= 0.49644 — 1.386761

u = —0.193938

a= 4.58305 —1.29813 —8.53890
b= 0.469396




IL I = (u?+b,a—1, u'? —4u'® 4+ ... —2u 4+ 1)

(i) Arc colorings

(
(
(
o (%
o= (050)
=
o=
(
(
(

aq =
wb —3ut+2u2+1
ub — 2ut + u?
—u? + 4u” — 5u® + 3u
—u? 4+3u" —3ud +u
(—ug +4u” — 5ud + 3u>

ag =
as = —u? +3u" —3uP +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u? — 12u” + 4u® + 12u® — 8u* + 8u® + 4u? — 12u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €4, €5 u'? — 40t + 0¥ 4+ 6u® — 30" — b + 3w’ — 5ut +ud 4+ 3u? — 2u+1
€10, C11
C2 u? +8uMt o —2u+1
3, C8 (u* —u® +u? +1)3
ce, C7, Co (u4 —u® +3u? —2u+ 1)3




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,C5 y12—8y11+---+2y+1
€10, C11
Co y1278y11++2y+1
3, C8 (y* + 3 + 3% + 2y +1)3
Cg, C7, C9 (y4+5y3+7y2 +2y+1)3
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.944825 + 0.3219171
= 1.00000
—0.789064 — 0.6083111

0.21101 — 1.415101

1.82674 + 4.908741

0.944825 — 0.3219171
1.00000
—0.789064 + 0.6083111

0.21101 4 1.415101

1.82674 — 4.908741

0.031664 + 0.8780901
1.00000
0.770039 — 0.0556091

—6.79074 + 3.163961

—1.82674 — 2.564801

0.031664 — 0.8780901
1.00000
0.770039 + 0.0556091

—6.79074 — 3.163961

—1.82674 4 2.564801

= —1.186690 + 0.1584071
1.00000
—1.38315 + 0.375961

0.21101 — 1.415101

1.82674 + 4.908741

—1.186690 — 0.1584071
= 1.00000
—1.38315 — 0.375961

0.21101 4 1.415101

1.82674 — 4.908741

1.240280 + 0.4556461
1.00000
—1.33067 — 1.130251

—6.79074 — 3.163961

—1.82674 4 2.564801

1.240280 — 0.4556461
1.00000
—1.33067 4 1.130251

—6.79074 + 3.163961

—1.82674 — 2.564801

—1.271940 + 0.4224431
= 1.00000
—1.43937 4 1.074641

—6.79074 — 3.163961

—1.82674 4 2.564801

—1.271940 — 0.4224431
= 1.00000
= —1.43937 — 1.074641

>~ Q@ €|l & €| & €| Q& €| & €| & €| & &> & 8| & 8| & &
Il

—6.79074 + 3.163961

—1.82674 — 2.564801

11



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

0.241868 + 0.4803241
1.00000
0.172212 — 0.2323501

0.21101 4 1.415101

1.82674 — 4.908741

0.241868 — 0.4803241
1.00000
0.172212 + 0.2323501

0.21101 — 1.415101

1.82674 + 4.908741
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Inr. 13 = (b+1, a—1, u—1)

(i) Arc colorings

az =
aq =
ag =
ag =

-

(ii) Obstruction class =1

(iii) Cusp Shapes =0

13



(iv) u-Polynomials at the component

Si - mi 1
Crossings u-Polynomials at each crossin
€1, €10, C11 u—1
C2,C4,Cs U+ 1
€3,Cq, C7 u
C8,Cg

14



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossin
y y
C1,C2,C4 y—1
C5,C10, C11
C3,Cq, C7 y
Cg,Cy

15



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ v—1(vol ++1/—1CS) | Cusp shape
u = 1.00000
a = 1.00000 0 0
b = —1.00000

16



IV. u-Polynomials

Crossings u-Polynomials at each crossing
1 (w—1)(u'? —4u'® - —2u+1)
(20—t 1)
C2 (w+1)(u'? +8u + - —2u+ 1) (w? +16u*® + -+ Tu +1)
c3, C8 u(u® —ud +u? + 13w + 20 4+ F2u+2)
cq (u+ 1) (u'? —4u'® + .- —2u41)
(P -2 1)
cs (u+1)(u'? —4u'® + .- —2u41)
(w20 4+ 3u+1)
cg, C7, Co u(u® —ud +3u? — 2u+1)3(u® — 6u®® + .-+ 8u+4)
12 10
¢10, €11 (u—1D(u=—4u" 4+ —2u+1)

(P +2u® 44+ 3ut1)

17



V. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1, ¢4 (y— D)y =8y + -+ 2y + D — 16y + - + Ty — 1)
= (y =Dy =8y +- 2y + 1)y —dy™ + - — 1Ty — 1)
c3,C8 yt F P+ 37+ 20 + 13y + 628 - 4+ 8y — 4)
€5, €10, C11 (=D =8+ +2y+ 1)(y* — 249> +--- +23y — 1)
C6, 7, Co y(y' +5y° + -+ 2y + 1) (¥ + 305> + - - + 504y — 16)
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